
e.
75

 i.7
5 

 370 

 90 

 81 

 193 

i.2
8,

8 

Pipe N°1381 s.s
cod. 3014381203

CATALYTIC 
CONVERTER

Short helical 
spring tensile
cod. 303949001

Allen screw 
M10X60 
Cod.204482

Allen screw M10X40 
Cod.204109

2x Aluminium spacer 
Ø30XH13XØ10.5 
Cod. 206307

Aluminium spacer 
Ø20XH30XØ10.5 
Cod.205966

E13   92R-02 10440

NERO silencer RHS
stainless steel
Cod.3014079481 

OPTIONAL
cod.5684

e13 00088F

BIKE'S FRAME

M12X1.25

Aluminium spacer 
Ø20XH5XØ10.5 
Cod. 204058

Strap in S.s.Ø28
Cod.300028530

 110 

 1
25

 

Db-Killer N.63
Cod.3014225801

TO COVER HOLE  IN THE ORIGINAL FRAME:
- Screw M10x25 cod.204523
- Plain washer ø20xø10.5 cod.203518)

ART. 14079K

HONDA ADV 350 / SH 350i

SLIP-ON - S.S. BLACK EDITION - APPROVED


	DT-14079K
	Vista del disegno38
	Vista del disegno39
	Vista del disegno40


